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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2016

STD: Il i3
Roll No.

Date of Examination : 07 February 2016 Sunday
Time : 10.00 AM to 11.40 AM

qremreiardr SEG) / Guidelines for the Candidate
1. 39eATd ATarT g YRET $hApRI 3cdl 9T Porear T & €.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. 9Rel g% groaydl fearedisr carear 9ol Argdrdr @ aoaErdr 30 A it 9o dvard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYTARHET THKUT 100 TR& 3 Tcdh JRAATST 2 0T 3Te.
This question booklet contains 100 questions each question carries 2 marks.
4. ¥I 9T QS0 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.
5. 3MUcAT FEITE TRAYREART [ATeard! Tl Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. .

Q. x : - Fill in the blanks. Visit www.rtsexam.com for Answer key after 8 days
My father went.........cccecvvveeiuvrnnee To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUCAER JHH SccRUTIehl THAETHIhS TRl .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3Year URET HATh TeAYRAHa Fear fAgrar a Hex yRAYREdenr aRat Hleraticder 3aedr diad =rd.
Write your Roll No. on the Question Paper too and take it home for future reference.




10.

11.

ICICICEED] Yee Asq 3Noar.

A) foq= B) foga C) S D) 319
@rellel ARYARIENY BT fEeledl TN AT Jeckran 9T foasr.

o)
A) TR Sror B) ¥ Ryemfaror
C) gXr or D) I[c ATl el Ry
W@Toilel Tegrar Tasgradf ereg Qe
areg X
A) ATETET B) 3THTET C) &g D) €T
‘T’ T UGl FHATTLT 2reg HIOTAT?
A) TelleT B) 3ig& C) AN D) AR
TGrell feeledT AT e Hegedleh e g,
FATAT -
A) STTedT B) T C) ST D) J0eA
A’ AT Aeqran Y YA ATE.
A) 31FETE B) AR C) 3R D) HTd
"rellel AseTcliel AGH el Ase HSa.
A) HE B) d& C) & D) I ATEr
Tick the feminine gender of the word given below.
Bachelor
A) Groom B) Married C) Bride D) Spinster
Name the one word substitute for the following phrases.
One who is unable to read or write -
A) llliterate B) Foolish C) Literate D) Lazy
Fill in the blanks with the most suitable question word:

is the baby crying?

A) When B) who C) why D) whom
Fill in the blanks with most suitable adverb:
Hema and | see each other these days.
A) rarely B) very C) more D) rather




12.

13.

14.

15.

16.

17.

18.

Fill in the blanks with the most suitable adjectives:
Rohit is the of all my friends
A) Laziest B) Lazy C) Lazier D) none of these

Find out the noun in the sentence given below.
The king has to fight all the enemies
A) King B) has C) fight D) all

Find out the type of sentence given below
He was proud of his house
A) Request B) Statement C) Question D) Exclamation

Complete the following proverb selecting the correct option.
before you leap.
A) See B) Observe C) Measure D) Look

GTelTel J&IAT 38R folgraam=r 31g.

AT 3cckTar AT g fAqa.

RER

A) T3 THIUHAR B) 13T 2AGIUUTT
C)AZY 1S D) AF Hcag
Write in words the following figure choose correct answer option
969

A) Nine hundred and sixty- nine
B) Nine hundred and ninety-six
C) Nine hundred and sixty

D) Nine hundred and ninety

Grellel Ssl T @ Seckrar 37 94y =asT.
U + 0%+¢33 = ?

A) bRY B) QoY C) ¢o¥ D) ¢8%
Solve the following sums and select the correct answer option.
472+209+123 =?

A) 794 B) 904 C) 804 D) 814

QTFRTATAT Yoo &. fAATATS o7 208 . T UgeA of 22 T. Aeell U Eeil. X faEm=ir
AT TehoT Fohct SUBTr emaberr feell?
A) 823 B) €8R C) 883 D) &8

Shamrao donated Rs.500, Meenatai Rs. 101 and Rohan Rs.11 to the school. How many rupees did

they donated altogether?
A) 412 B) 692 C) 512 D) 612




19.

20.

21.

22.

23.

T & e fFHEdT ¢ T, 3Mg R g0 & e fFaa frdr?

A) (S0 T. B) Qoo T, C) 8000 T, D) 400 .

A T-shirt cost Rs.85, find the cost of 10 such T-shirts?

A) Rs.850 B) Rs.900 C) Rs.1000 D) Rs.1500

@rellel {WTColel HIUMA el YUl ARY 3HTecT?

(i) (i) (iv)

A) (i) 3TTOT (iii) B) (i) 30T (iv) C) (ii) 31TOT (iv) D) (iii) 3107 (iv)

Which two shaded fractions are same?

NRYN %
NIPANY

(1) (i) (iii) (iv)

A) (i) and (iii) B) (i) and (iv) C) (ii) and (iv) D) (iii) and (iv)

SR 3¢T ¥R I A A el HIVTAT TR IaT?

A) AR B) HITBAR C) Aqar DEEEIN
If tomorrow will be Thursday, then what day was yesterday?

A) Thursday B) Tuesday C) Sunday D) Friday

e 31T gaTa AYSr E&AT ST ?

A) {Ro B) Qoo C) ’R% D) RoR
Which is the greatest three digit number?
A) 990 B) 900 C) 999 D) 909

GrelleT HRMR A T 3eh Scairar 9did fHasT.

&Y + & =7

A) go¥ B) 203 C) 803 D) ’%
Divide with the help of tables and select the correct answer option

624 ~ 6=7°
A) 104 B) 102 C) 103 D) 99




24,

25.

26.

27.

28.

29.

30.

@rellel 9o |isal T 3 3cck 9 foasT.

g TAT bg U - 2 IIY ¢ 7 = ?

A)3 T by I B)3 T v U4
C)R T go U D)3 & go &I

Solve the following question and select the correct answer option.
5 rupees 75 paise — 2 rupees 25 paise = ?

A) Rs 3.75 B) Rs. 3.25

C) Rs.2.50 D) Rs.3.50

Yooo fATY = e

A)¥ B) ¥oo C) ¥¥oo D) ¥o
4000 m = km.

A) 4 B) 400 C) 4400 D) 40
Terr fgaara fordt ara 3 drd.

A) ¥ B) ¢R C) & D) ¢
How many hours does one day have?

A) 24 B) 12 C) 6 D)8

TrolTeTdehl HoTeAT HEAH & o qUT HET STdr?

A) 8l B) 8¥¢ C) <38 D) ¥2¢&
Which of the following is divisible by 6?
A) 257 B) 148 C) 816 D) 416

el AYH g&ar 3near.

A) ¥¥? B) ¥¢& C) 30 D) 3%0
Which one of the following is odd number?
A) 441 B) 246 C) 302 D) 310

greiordhr yeafRegear Sl Jumdr G&ar HUTA?

0 X 3¥98 = gooo X ?

A) 0 B) ¥¢Y8¢R )Y D) ITdhT ATET
Which of the following will replace the question mark from

0 X 3455=1000X?
A)O B) 48589 C)5 D) none of these

208 FUY Y FATAT THATT dlcel dX TcAahlall fohdl T9A TABATT?

A) e 3. B) ¥R 3. C) 2 2. D)R%¢ %.
How much amount will each get if Rs.1205 is distributed equally among 5 people?
A) Rs.241 B) Rs.242 C) Rs.251 D) Rs. 211




31.  grsar
VEY + €3 + 9o - ¥Y - 39

A) o B) Clyo C) ’Re D) ¢Ro
Simplify
765+ 65 + 70— 45 - 35
A) 780 B) 870 C) 990 D) 820
32. o1 T BT TAE T e,
A) NET B) i Ia ) Tgarfasg D) adrerdhr Ia
Milk is a rich source of .
A) Protein B) Calcium C) Vitamins D) All of these

33.  WellcldeT Hald o8l INT HIoTr?

Which line is the shortest?

TRV NN
J /\/\/\/\j\/\
0 \—f\/\/\J\J\

34.  Wrellel 3Mehcild THOT fohcT FAehIoT 3med.

A)S B) ¢ C)R D) 2o

How many triangles are there in the figure?

A)5 B) 8 C)9 D) 10




35.

36.

37.

38.

39.

40.

D) AT
S

D) Dog

D) =ITOT

D) Dirt

D) ITdhr ATEY

Substances

A) Med SRIE C) e

Whose shelter is the stable?

A) Donky B) Horse C) Ox

TW dleedd ITd qTSA?

A) TeToT B) gTufY C) 9¥T

If nails grow long, collects under them.
A) Soap B) Water C) Paste

A) T B)&d C) ATy,
Substances that maintain their shape all the time are called
A) Solid B) Liquid C) Gases

TIAITHRIATST @TeleTdehl ShIuTd dol aradel STa?

A) AT der B) WISRT el
C) QaTeToT del D) adel |q
Which of the following oils can be used for cooking?

A) Mustard Oil B) Coconut Oil
C) Groundnut Oil D) All of these
&Il 9@ o He

?) 35U FAcd gd

?) RN 30T g

3) gal geX feadra

8) QRIS T&T0T gt

A) BeFd ¢ B)? T R C) ¢, R, 3T 3

The feathers of a bird

1) Help it to fly

2) Keep it warm

3) Make it attractive

4) Protect the body

A) 1 Only B)1and2 C)1,2and3

qTgard  31ThRTd I IHShd?

A) =T B) theTeh C) TTguaT
During the rains, flashes in the sky.
A) Lighting B) fireworks C) stars

D) none of these

D)¢,R 3d¥

D)1,2,3and4

D) I |

D) All of these




41.

42.

43,

44,

45.

46.

47.

48.

IETEY IREHD EARCEHCH

A) 3T B) TTofY C) gar D) Al T
Due to unclean surrounding get polluted.

A) food B) water C) Air D) all of these
Grelleldsh! AT i HIST g HIUTT?

A) FITS B) T[% C) g D) 21t
Which one of the following is the biggest planet of our solar system?

A) Mars B) Jupiter C) Earth D) Saturn

TEIET SgaFdl STEHT SiTell dX Wlellel Yehl FHIOTTeT SieldTe.

A) Gl E B) GehIeTER C) STeFeX D) fR¥eteh

If someone gets injured, which one of the following persons must be called?

A) Policeman B) Shopkeeper C) Doctor D) Teachers
GTellerdehl TYhId AT HIUTA?

2) TNl SEICIES] ) T Y) IrHT ATEY
A) ¢ TTOT R B) ¢ 3fUT 3 C)¢, R 3HIUT 3 D) ¥

Which one of the following is a mean of communication?

1) Telephone 2) Mobile 3) Bus 4) none of these
A)1and?2 B)1and3 C)1,2and3 D)4

AL THUT HIEAT 3TEA?

AR B) ¥ C)3 D) ¢
There are states of matter?
A) 2 B) 4 C)3 D)1
37297 TR,
A) YT B) TToufY C) Jahel D) gar
is invisible.
A) Milk B) Water C) Kerosene D) Air

Glolleldeh! JATIIOTT gceh HhiuTar?

A) gdr B) oY C) FATIdT D) gl @a
Which one of the following is a part of the environment?

A) Air B) Animal C) Plants D) All of these
T ATSIIUATHTS! T IS SATel?

A) 9ol a1oT B) GaT@I=IT C) eMmaT D) 9rEe 3Tt
Where will you go if you have to post letter?

A) Police Station B) Hospital C) School D) Post Office




49.

50.

51.

52.

53.

54.

55.

56.

qrel &7 AT 3Y9Iqd 3T,

A) TATIAT B) T&=ITT C) JTogTT D) ST A=aT
Leaf is an organ of:
A) Plants B) Birds C) Animals D) Land

el dTgcehld AT HI0TA?

A) & B) & C) Agr D) adiel |
Which one of the following is a means of transportation?
A) Aeroplane B) Bus C) Metro D) All of these

GrelTedehT HIUTAT Hafla 35 Aehal?

A) SIS B) frems C) Reof D) It T@a
Which one of the following living things can fly?
A) Crow B) Vulture C) sparrow D) all of these

Wrelleltehl HIUTCAT ST ASThIad! HEhcl TAHTOT SHTelell FATEI?

A) et B) sfoicd C) STTeT D) 33Th
Civilization is not developed on the blanks of rivers?
A) China B) Egypt C) Japan D) Iraq

9198 dIR 0T g VAT YhRAT ST H1g?

A) FAIS 3T B) o€ 3cTaT C) FERTET D) IThT ATEY
Making papad is a industry.

A) Large Scale B) Small scale C) Cottage D) none of these
TSHTIT ATET QAIET AT,

A) 3TRFGT B) &gl C) GRTUTIRFAZIT D) hfergar

The wheel had been invented toward the end of the .

A) Stone age B) Metal age C) Ancient age D) Modern age

TP YSATT THWMET INSUITATS! HATUTHTST ShIOTAT JTUITAT 3YANT hell?

A) BST B) 3¢ C) B3R D) ST

In snowy regions, man used to pull the sledges.

A) Horse B) Camel C) Reindeer D) Bullock
fRIGTOTTHS HTIeTell ATATSRISN fAEAr.

INGIET B) 31T<ig, C) farT D) ArfgdT
Education gives us knowledge and

A) Job B) Pleasure C) Shelter D) Information




57.

58.

59.

60.

AMHAYIRIATT Hed HIuITATS! 37gdr.
A) 3TgFd B) TRT C) TSR

helps the Gram Panchayat
A) Commissioner B) Sarpanch C) Chief Officer
M Tceh Bl
A) fegar B) 3ATaRTLT C) 9TexT
Odd man out:
A) Green B) Sky C) white

D) ATHHTh

D) Gramsevak

D) faar

D) yellow

ol AT hH JeTTd U3el TARegrear SAelr Jur g&ar fadsT.

o, ¢, R0, 28, 7

A) ¥ B) 30 C) ¥o
Observe the sequence and find out the correct answer.
10, 8, 20, 16, ?

A) 24 B) 30 C) 40

Grellel 92T JThcllel AR FTAAT hely 3r&er?
d 3cd AT Qe

D) 3R

D) 32

TR 3MTehcll ESRICT)
[ |
LE R FL
A) B) D)

Find the mirror image of the question figure from the answer figures

Question Figure Answer Figure
ele % ‘ ~ I'
a|e l_ﬂ p
—y
A) B) D)




61.

62.

63.

64.

feeream weeT 3Tehciel dellda S[@UTRT 3Tehell 3cck TehediAe foidsT.
TR 3Tl 3cel 3Tl

ARASARCANAR:

A) B) C) D)

In the following one figure is given as a question figure and you have to find the correct identical
figure from the given alternatives.

Question Figure Answer Figure
° ® D/ >/ ® (')
A) B) ) D)
TGrellel JeATclel T Te s
U, W3, %, 83, ¢
A) U B) ¢3 C) %L D)<
Identify the wrong term in the given series.
28,23,17,13,8
A) 28 B) 13 C)17 D)8
YéIeT HEATHTOIATS FRaTdegredr Sl SHIoTdr HEar Ise o Tl Scclicls 3Hiedr.
b %o 23 2§ ?
A) 8% B) ¢ C) 8¢ D) Q0
Find the number that fits in the given group of numbers?
71013167
A) 19 B) 12 C) 18 D) 20
el feeredT erd STk ug forgT.
AR T, T, ?
A) areg B) ¥ o) E NGIER

Find the word that belong to the following groups
Cat, Dog, Cow, ?
A) Tiger B) Buffalo C) Lion D) Wolf

10

——
| —



65. I, TG, YAl §T TChHET Wlelleldehl HIUTCAT Tl IHTehcilel 3Tgeh G Addl Asel?
Which figure will represent the set of objects?
Sun, Planet, Earth ?

@ OO O©)

A) B) C) D)

66.  Treilel 3MMehciicilel epIome FEar fohcl?

A) b B) ¢o C) ¢ D) b

How many triangles are in the following figure?

A) 7 B) 10 C) 8 D)7

67. €3Y3 = ¥ Ircitel ST fohdl AS?

A)O B) Y C)Y D) ¢
6345 + 4 find the remainder?
A)O B) 5 C)4 D)1

68.  WIallel Ul ddTdl Qe BT,

A) 3T B) 8T c) 591 D) &hleT
Find the odd man out
A) Eyes B) Hand C) Tongue D) Ear

11

——
| —



70.

71.

72.

Wl k|
24 ? | 3%
%o [4R0olR 20
A) %o B) ¢ C) 8¢ D) W
Which of the following numbers will replace the question mark in the box.
5 | 6|7
15| ? | 35
60 (120|210
A) 10 B) 12 C) 18 D) 24

fagar 3mehcr 3Near

9

A) B) C) D)

¢

A) B) C) D)

Find the odd man out.

FaTd AYST IR 3{hr TEAT HIoTdr?

A) 2%%¢ B) ¢cc<¢ C) ’R8R D) RR%¢

Largest four digit number is

A) 1111 B) 8888 C) 9999 D) 9998

QlTell dMe, disdTell Ades, Adelel a@s, dIEsrel ey, aicrel JegfAfagsd Fged &«
Tl HET YT HIOTAT?

A) Bt B) dT& C) TTér D) 3regfafaas

If gold is called copper, copper as brass, brass as iron, iron as silver and silver as aluminum, then
Which metal is the costliest?
A) Gold B) Copper C) Silver D) Aluminum

12

——
| —



73.

74.

75.

76.

77.

78.

Tl Hishfder HNT APT&T 2Teq AOD WWWOAD
FEUTS HIUTdT LG ?

A) TAP B) PAT C) APT D) ATT

In a certain code language the word APT is written as A O |:| then word does O A |:|
Symbolise?

A) TAP B) PAT C) APT D) ATT

qfgeaT YerdT ga=ar JerRl ST H9Y 30g, dHd FY fAE=ar gerar e genh .
TTawed geARegr=ar el AR AT gATT Qe

dige : Tehellaid o 9ol @ ?

A) I B) fAX C) alrex D) &.5 .

The relation of 4t term to the third term is similar to the relation of the 2™ term to the first.
Therefore search for the right alternative to the 4" term
Rice : Kilogram :: Water : ?

A) Gram B) Meter C) liter D) cm

ThT AT AT SUR AEIAREN 39T 3G I HAG 23 dT g, R T THoT fhedr
T e

A) R B) 3 C) W D) %

Shreyash is standing at the central place in a row and his order in the row is 13. How many boys are
there in the row?

A) 22 B) 23 C) 24 D) 25
YT TET ITHRATT Heddh 3 gdrd.

A) TG B) IE C) 39TE D) TGudT
Several are seen in the sky during a dark night.

A) moon B) Planets C) Satellites D) Stars
HERTSET HEIHA HI0T 3MTEcT?

A) THT Teh B) AT 9aR

C) 372N TIgToT D) ¢3¢ HIUTE

Who is the chief minister of Maharashtra?

A) Vasant Purke B) Ajit pawar

C) Ashok Chavan D) Devendra Fadanvis
HAERTSErY TSI HIUT 3RA?

A) ARTIOT 0T B) fladllg, dras

C) Uehsll He D) TchalT WSH

Who is the education minister of Maharashtra?

A) Narayan Rane B) Vinod Tavde

C) Pankaja Mundhe D) Eknath khadse

13
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79.

80.

81.

82.

83.

84.

85.

86.

HERTSCT Tt fohcl foteg 3med?

A) 3¥ B) 39 C) 3¢ D) 3R
How many districts are their in Maharashtra state?
A) 34 B) 35 C) 36 D) 32

AR GHE HUTAT I 3?2

A) FHE B) STITR c) fgeeir D) guT
India’s Parliament house is situated in
A) Mumbai B) Jaypur C) Delhi D) Pune

GTelleTdehl HIVTCAT S2ATST AGIAT ST 3 Sl Fgcel Sl ?

A) sTifer B) TR C) e ferar D) ST9TeT
Which country is also called as Copper country?

A) Zambia B) India C) Australia D) Japan
alel 3Maasard fgad fardt giara?

A) Qe B) %€ C) 8% D) &o
How many days make two weeks?

A) 20 B) 16 C) 14 D) 60

Hfg—aTeaT AT gehrd Faferer faasr.

Choose the wrong spelling of the name of the month?

A) August B) March C) Janary D) May
e Afgeard fhdr iGaa Idra?

A) 30 B) ¢ C) N D) 3¢
How many days comes in a month April?

A) 30 B) 28 C) 29 D) 31

AT TUITRIGTT g A ARl Hell ool A, IO AT & 308, F HI0T 37T87?

A) |19 B) IRD C) 95 D) HIET
| cannot live without water. | have fins. Water is my home. Who am I?

A) Snake B) Coconut C) Frog D) Fish
GrelleTdeh! IO 378 qUMThA 37TR .

Which of the following letters are in correct alphabetical order.

A) uvwt B) kimn C) nopm D) cdea

14
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87.

88.

89.

90.

91.

92.

93.

A) 9Ue - fgiar B) Mo - Waasr
C) SIHeT - dTol D) Ha - TieT
Choose the incorrect pair from given options.

A) Parrot — Green B) Carrot — Yellow
C) Tomato - Red D) Radish — White

AT Agalel ¢ g SlvTear Wosrell Feifere 31T,

A) [dFaesa S EAGE:] C) Fhagar NEELLG
With which game the player Saina Nehwal is related?
A) Wimbledon B) Tennis C) kabaddi D) Badminton

HRATdIT digel [Saloleteag adelel ABT HIUTA?

A) HSS B) fi&oalr C) IERTS D) ST
Which of the following cities is the first planned city in india?
A) Mumbai B) Delhi C) Chandigarh D) jaypur

FHIR ATFUT TIClsll TTooTtehl hIoTdT EAT TATYT holl?

A) TTd frator gEm B) frarstr fRvafor Hear

C) TorsmaATar freror aFr D) 3TerX fRI8TOT HEAT
Karmaveer Bhaurav Patil founded

A) Rayat Shikshan Sanstha B) Shivaji Shikshan Sanshta

C) Jijamata Shikshan Sanshta D) Addhar Shikshan Sanshta
HERISCICiS Hald 39 gad RIET SIord?

A) AT B) HETI AT C) #Agea D) HgaTS
Which is the highest mountain peak of Maharashtra?

A) Matheran B) Mahabaleshwar  C) Mahadev D) Kalsubai
HRAT gfgel JEHA HI0T glaT?

A) 3. IR a8 B) ST.GSITeRTd &R

C) TER TodHHAS T D) T, amedr

Who was the first home minister of India?

A) Dr. Babasaheb Ambedkar B) Dr. Panjabrao Deshmukh

C) Sardar Vallabhbhai Patel D) M.K. Gandhi

HRATCST 3TUT3SAT sher I0TA?

A) g B) ARTR C) SR D) HeS
Which is India’s first nuclear center?
A) Hampi B)Tarapur C) Belapur D) Mumbai
( )|
. © )



94.

95.

96.

97.

98.

99.

100.

HRAT [AHAS Hel FURT IVl ST SATcl?

A) TdeT eTeT B) &g HIGr

C) 3HR @i D) SL.U.GLSN. 3eqel Fhelld
Who is known as missile man of India?

A) Ratan Tata B) Narendra Modi

C) Amir khan D) Dr. A.P.J. Abdul Kalam
foeeiteces &1 U 38

A) WS B) 3aud C) wroft D) TT
Gymnasticis a

A) Sport B) Organ C) Animal D) Disease

GToleTdhT HIUTAT YTUATT 36 9T 37T dTd.

A) FHalr B) pelITT® C) 318 D) i
Which one of the following animals have 8 legs?

A) Ant B) Butterfly C) Mosquitoes D) Spider
GTelTerdhl gruaTd TGUTRT YTofY SHIoTdT?

A) d@rd B) &ccil C)egcT (GaHET)  D)3C
Which one of the following is an aquatic animal ?

A) Tiger B) Elephant C) Whale D) Camel
Rrarsh FAgRIar Tsanfdvs Fweft srar?

A) 2€LY¥ B) 8&¢o C) %&loo D) 8¢¢¥
Shivaji Maharaj was crowned in the year?

A) 1674 B) 1680 C) 1670 D) 1884

SETATS gatd AT gafr shorar?

A) RMETaT B) YTeTehIdadl C) %5 D) g
Which is the biggest bird in the world?
A) Ostrich B) Kingfisher C) Eagle D) Black kite

SEATST ald AlST @S hoTdr?

A) 3TTTShenT B) 3TART C) 3T D) 3¢ ferar
Which is the biggest continent in the world?
A) Africa B) America C) Asia D) Australia
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